New Question Type Samplers — Grade 5 RLA Answer Key

Maximum
Itt.er.n Item Type .TEKS Number Correct Answer(s)
Position Alignment .
of Points
To connect the reader to the topic

1 Multiselect 5.10.A 2 and
To provide a mental picture of the subject
*A rubric is used to determine the score for a short
constructed response.

Short A correct response could be similar to the following:

2 Constructed 5.6.G 2 The wood rat makes its nest in the cholla because it

Response helps to control the rat’s body temperature. The thick
leaves create a cool environment in summer and a
warm one in winter.

Part A: Option A
. Part B: Option D

3 Multipart >-6.E 2 The student must choose Part A option A to receive
partial credit (1 point).

The student must select the third sentence in
paragraph four, and the third sentence in paragraph
SiX.

4 Hot Text 57C ) “The animalluses its large curled horns and its h.oov?’s
to tear off pieces of a cholla and remove the spines.
and
“They roll the buds on a hard surface to remove the
spines and then roast them slowly on an open fire.”
They provide a background explanation of the

5 Multiselect 58.C ) characters’ attitudes.
and
They introduce a problem that the characters face.
Part A: Option C

. Part B: Option B

6 Multipart >-8.8 2 The student must choose Part A, option C to receive
partial credit (1 point).

The student must select the thirteenth, and the
nineteenth lines.
“MAMA BEAR: Oh, she didn’t break in, dear. You

7 Hot Text 5.7.C 2 forgot to lock the door.”
and
“MAMA BEAR: She was only five years old! She has
matured since then.”

*A rubric is used to determine the score for a short
Short constructed response.

8 Constructed 5.9.C 2 A correct response could be similar to the following:

Response The drama is divided into two scenes to show the

transition to another event. Baby Bear insists that he




Maximum

It(.er.n Item Type .TEKS Number Correct Answer(s)
Position Alignment .
of Points
is not letting Goldie near his video games in Scene 1,
but they are both playing a video game in Scene 2.
*A rubric is used to determine the score for an
extended constructed response.
Extended A correct response could involve a student explaining
9 Constructed 5.7.B 5 that Baby Bear had bad memories of Goldie until he
Response got to know her as an older child and learns to like
her. The student would need to provide thorough
evidence from the drama to support this idea.
10 Inline Choice 5.11.Bi 1 Unfortunately
11 Inline Choice 5.11.C 1 expensive
*A rubric is used to determine the score for a short
Short constructed response.
12 Constructed 5.11.C 1 A correct response could be similar to the following:
Response Students could work in both small and large groups at
these tables.
*A rubric is used to determine the score for a short
Short constructed response.
13 Constructed 5.11.C 1 A correct response could be similar to the following:
Response Students at our school are eager to learn in a space
made especially for science.
14 Inline Choice 5.11.Di 1 It had
15 Inline Choice 5.11.Div 1 funnier
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